Review Day Practice

1. If f(x) = 5**2 and g(x) = 4®*. Find the value of x such that f (x) = %g(x) {rounded to the hundredths place).
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2. Find the center and radiu;; of the following circle: x? + y2 + 2x + 4y = 11
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3. Find the area of a sector of a circle with arc length of 50 in 4nd radius of 10 in.
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4, Given the table at the right,
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a. Describe the interval over which f{x) is increasing (-»()q) LD 5 x)
b. Describe the interval over which f(x) is decreasing (4 J M} - 3 ; =
=y =09 4§ 700 & =
¢. Describe the end behavior of the function }igg - 00 gs ))i__) DG 2 21
d. Find the min onax ) (Lh@ 7 -4

e. Describe the transformations HG(‘TW' 4, Up 5

f. Write an equation to model this function V =3 l )(*L('l 5

5. Given the function: f(x) = 2x* +3x% — 29x2 — 18x + 72:

' a. Describe the number and type of zeros L{ TS - L(,u W
. Find the zeros — L'L;’Z) |.l’9'} 5
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c. Find the y-intercept 7 2
d. Find the relative min(s) (’348)—55‘@,—0'? (2.%}«3&53)

e. Find the relative max(s) (’ b3 )'74.7 3) _ |
f. Describe the interval over which the function is increasing (-3, ] %, O.S) ¥, (2,3(0} D<]>

g. Describe the interval over which the function is decreasing {-<,-3, l@ t/ ('0.5, 2.%}
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h. Describe the end behavior




6. Aswimming peol can be filled by one smatl hose in 15 hours, and one Iérger hase in 8 hours. How long does it take

to fill the pool if both hose are used at the same time?
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7. Simplify: x—-?-'7.+; N
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8. Solve for x: + =
xX—6 x+2
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9, ! A A

|
N

—1

LR

r

e e e

. Iixt2
XHIX

»

W

Y,

¥ ¥

»

oR

AN

|

\ »

S

) p)
v 22

a. What is the sine of 67 {—;6— b. What is the sine of 7 _-J'i ¢. What is the sine of §? "_‘E-_
_ . G
What is the cosine of 87 ~1- What i the cosine of §? {3 What is the cosine of 67 1/:2__-_
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10. Solve forx: 2%+3 = 7. Round to three decimal places ()(1,3) | Dgz = ]Org”’]
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11. logg(x +8) =log, x +1log, 6 - J_()ﬂ_’l ~Blyz

09, (X"+8)= logg((px) (-t 2y =0
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12. logs x +log,(x—2) =1
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